PLANNING DEPARTMENT
Town of Durham
8 Newmarket Road
Durham, NH 03824-2898
Phone (603) 868-8064
www.ci.durham.nh.us

HISTORIC DISTRICT COMMISSION
Application for Certificate of Approval

Date: 2/20/24

Property information

Property address/location: 1 Park Ct (back of property) / 15 Park Ct (side lawn)
Tax map and lot #: 108 - 31 ; (Old tax map and lot # )
Date of building, if known: 1952

Name of project (if applicable): _ St. George’s Solar Array

Property owner

Name (include name of individual): St. George’s Episcopal Church (Rector — Nathan Bourne)
Mailing address: 1 Park Ct, Durham, NH 03824

Telephone #: _ 603-868-2785 Email address: nathan@stgeorgesdurham.org

Applicant (if different from property owner)

Name (include name of individual): Scott Righini — Facilities Manager
Mailing address: 149 Mill Rd, Durham, NH 03824
Telephone #: _ 603-502-2357 Email address: srighini@comcast.net

Architect/Designer (if applicable)

Name (include name of individual):

Professional Designation:

Mailing address:

Telephone #: Email address:

Contractor (if applicable)

Name (include name of individual):

Mailing address:

Telephone #: Email address:

(over)


http://www.ci.durham.nh.us/

Proposed activity (check all that apply)

New building/structure: _ Addition onto existing building/structure:
Alterations to existing building: _ Demolition: __ Signage:

Site development (other structures, parking, utilities, etc.): X Change ofuse:
Wall orfence:  Removal of tree(s):

Describe project:16.8 kW free standing/ground mount solar array to be installed in the back corner of

the property behind the building and parking lot (on the side lawn of the rectory @ 15 Park Ct)

Proposed starting date: __ Late Spring / early Summer of 2024

Submission of materials
The following materials must be submitted with this application. Please check off each item:

Elevation drawings. Submit for the building and any pertinent details: X
Site plans. Submit if any changes are proposed to the site: X
Details. Provide drawings/cut sheets of any pertinent elements: X

Samples. Provide samples or swatches of proposed colors and materials:

Other items. Provide information or drawings of any other pertinent elements: X

Submission of application

This application must be signed by the property owner.

| hereby submit this application to the Town of Durham Historic District Commission pursuant
to the Historic District Ordinance and attest to the best of my knowledge that all of the
information on this application and in the accompanying materials is true and accurate.

Name of Property Owner:

Signature: Date:

| authorize and designate ,

attorney or developer or architect/designer or contractor or agent (circle all that apply), to
represent me in all matters related to this application.

The applicant or a representative must attend the HDC meeting to present the application and answer

any questions. If nobody attends the meeting then the HDC may not take action on the application.

(Form updated December 1, 2022)



¥Z8€0 HN ‘weying

Aelly 1e|0S 5964090 1§

:UOISIADY

l ¥¢0¢/¢/C
:21e(

U1y b1y 13005
:Aq paJedaud

1D1ed |
yauny) jedodsid3 s,261090) 1§

i1vd

0S ST

0§ =,1-3TVDS

\N =

86_44,

¥2-801

MOVELIS HYIY.SL 1 !
[
I
I i
!\
\\\
]_m b

TIVM3NOLS

Wb bp

F.000C = .l :ITVOS
dVIN NOILVOO']

o
z
(o)

wieyang

()

%
ry R4

bbg 9555

\ €d.g7
EENT]
O9%NID

2€-801

& Sb

0€-801

HOHNHO 1vVdOOSId3

S, 394039 1S

:oo,.,ot

14 'bsS 0L¥'99
oV G621 N
1€ 107 g
801 de\ xe]

QEIEINRED;

YINNVTd NMOL 'LANFHHIF 1IVHDIW A9 Q3I41LH3D
‘ddvod SNINNV1d WYHANA A9 TVAOHddY 1VNI4

¥28€0 HN ‘weying
}oallsS UleiN Ol

D771 8uQ usaple uoybulio] Ge-801
#28€0 HN ‘weying
HNOD Med Lg

D71 1seln uoybulio] ze-801

¥28€0 HN ‘weying
}oallsS UleN 81

0711 ‘spswioo | 0€-801L

¥28€0 HN ‘weyinQg
SAU(Q [IPMOD CL

0711 ‘spswioo | 9¢-801

¥28€0 HN ‘weying
SAU(Q [IPMOD 1L

D71 ‘sublsaQ pue SaWoH Ysaleoy GZ-801

¥28€0 HN ‘weyinQg

9Al(Q [IemOD 91
uewiyory pineq ¥2-801

¥28€0 HN ‘weyinQg
}oallS ulew ¢

071 ‘spswioo | €1-801

¥28€0 HN ‘weying
}oalls UleN 61

0711 ‘spswioo | Zl-801

¥28€0 HN ‘weying
joallS UleiN L}

yoJnyo Ajlunwiwod weysng 9-801

1S Sd311Ngv




Cowell/Dr

-

3 e iy

N r "'h

i United States
Bostal Service

Great Bay'@ 1, el g Hollday Inn Express

Cooperatwe Preschool Durham; (Unlﬂ"an |HGLEN
: Tl %""',f)H)} "‘

St5George , - il e D,
Episcopal Church - Ay _ Zstar “’1%dams 1

Campus Flats i Ma!n St

Kyle Woodruff Statejy..
saFarmiinsurance Agent]

—

“"-

Maln 51 o

e s

Pendexter Property. (@
& Management
® Friends in Action i

St. George’s Solar Array
Aerial Photo




1?|'I EII

! AT 1

ﬂAHﬂlTE"uI'EF'.
A |
Bl

E-W PIER SPACING

. al

MORTH
CLEARAMCE

g

BI
M-S PIER SPACING

- =
I
(V)]
i
I
=
5 1"

M-S FIER SPACING

I
I
- Y
~T0I

CROSS PIPE LENGTH

3 | 172" |






g g

Ay
g E
o o
= B
z =
9 2
> >
— ! —
Q Q
+— R
g g
e * ]
o ‘I
+~ -~
< I
o B
Q §y O
= g
=1 R =
< <




1 Park Court (#1231728)
ground based

Project Details

IRONRIDGE

28357 INDUSTRIAL BLVD., HAYWARD, CA 94545

Name 1 Park Court
Location 1 Park Court, Durham, NH 03824
Total modules 35
Module Hanwha Q.Cells: Q.PEAK DUO XL-G10.3 BFG 485 (35mm)
Dimensions Dimensions: 87.24" x 41.14" x 1.38" (2216.0mm x 1045.0mm x 35.0mm)
Total watts 16,975 kW

336.0"

Inter sub-array

spacin : C
p 9 winter solistice.

Substructure & Foundation
Tilt
Pipeltubing diameter

Foundation type

Last updated by Matthew Belliveau on 01/10/24 08:55 AM

30°
3"

Concrete

Calculated using solar azimuth of -37.77° and solar elevation of 13.76° at 9AM (America/New_York) on the

Date

ASCE code
Wind speed
Snow load

Wind
exposure

Piers

Concrete

Keyboard shortcuts | Imagery 2024 Airbus. Maine GeoLibrary | Terms | Reportamap emor

South facing grade
Soil class

Hole diameter

Page 1 of 6

01/11/2024
7.10

110 mph
60 psf

B

12
4.85 yd?

0°

20"



1 Park Couzl (#1231728) //’A IRONRIDGE

ground based 28357 INDUSTRIAL BLVD., HAYWARD, CA 94545

Sub array #1

* IronRidge engineering requires a 3rd rail for each column in this array due to the project parameters and site conditions.

Rows 5 Columns 7 # Arrays 1

Area 51'1" (EW) x 17' 5" (NS) Rail type XR1000 Diagonal bracing yes

EIW spacing 10' Rail cantilever 37 Pipe cantilever 7"
Pierslarray 12 Total south piers 6 (5'8") Total north piers 6 (10'11")
Total cross pipes 2(51'1") Total pipe length 201" 7"

Shear 1,369 Ibs Moment 0 ft-lbs Uplift -1,598 Ibs

Last updated by Matthew Belliveau on 01/10/24 08:55 AM
Page 2 of 6



1 Park Court (#1231728)

IRONRIDGE
ground based 28357 INDUSTRIAL BLVD., HAYWARD, CA 94545

51'1"

173"
76

CANTILEVER
7"
H |
10
E-W PIER SPACING
—_ @ i i i 0
]
z
(@]
.
mﬁ )
o Be
@
P
- @ i i fi i rﬂ‘ju
H NG

CROSS PIPE LENGTH

Last updated by Matthew Belliveau on 01/10/24 08:55 AM
Page 3 0f 6



1 Park Court (#1231728)
ground based

Pipe Fitting Detail

XR1000 Rail

TN

/0 IRONRIDGE

28357 INDUSTRIAL BLVD., HAYWARD, CA 94545

= NORTH
; CLEARANCE

L %f 9‘ |

- T 1
HOLE |* N-S PIER SPACING
DEPTH L U _
18"
i
HOLE DIAMETER
| 15' 2"

PV MODULE

XR1000 RAIL

3” RAIL CONNECTOR

3” PIPE/TUBING

Front View

Clamp Detail

PV MODULE
FRAME

UNIVERSAL
FASTENING
OBJECT

Mid Clamp, Plan

Last updated by Matthew Belliveau on 01/10/24 08:55 AM

3” TOP CAP

~— UNIVERSAL
FASTENING
OBJECT

PV MODULE
FRAME

RAIL

Mid Clamp, Front

UNIVERSAL FASTENING OBJE

PV MODULE

XR1000 RAIL

3” RAIL CONNECTOR

3” TOP CAP

Side View

~—— RAIL

End Clamp, Plan

PV MODULE
FRAME

UNIVERSAL
FASTENING
OBJECT

STOPPER
SLEEVE

Page 4 of 6

3” PIPE/TUBING

STOPPER
SLEEVE

UNIVERSAL
FASTENING
OBJECT

~—— PVMODULE
FRAME

End Clamp, Front



1 Park Court (#1231728)
ground basec

Grounding Diagram

Last updated by Matthew Belliveau on 01/10/24 08:55 AM

<

*Only one Grounding Lug required per continuous subarray.

IRONRIDGE

28357 INDUSTRIAL BLVD., HAYWARD, CA 94545

UFO or . *

@ CAMO ® Grounding Lug
5 Fault Current Min 10 AWG’
Ground Path  "—  Copper Wire

Optional Cross Brace

O Bonding Points 4— Fault Current Ground Path

Section View

*Grounding Lugs and wire are not required in systems using
certain Enphase microinverters or certain Sunpower modules.
Equipment grounding is achieved with the Engage cable for

Enphase or the AC module cable system for Sunpower via their
integrated EGC.

Page 5 of 6



1 Park Court (#1231728) //’A IRONRIDGE

ground based 28357 INDUSTRIAL BLVD., HAYWARD, CA 94545

Bill of Materials

Part Spares Total Qty
Rails

XR-1000-210A
XR1000, Rail 210" Clear 0 21
* [Custom Length] Please check with your distributor for availability.

Clamps & Grounding

UFO-CL-01-A1

Universal Module Clamp, Clear 0 126
UFO-STP-35MM-M1 0 42
Stopper Sleeve, 35MM, Mill

XR-LUG-03-A1 0 1
Grounding Lug, Low Profile

Substructure

70-0300-SGA

SGA Top Cap at 3" 0 12
GM-BRC3-01-M1 0 42
Ground Mount Bonded Rail Connector - 3"

GM-DB3-TB02-M1 0 6
GM Diagonal Brace, 2.5" Square Tube, 105.0" LG (For 3" Pipe)

GM-DB3-SLV01-M1 0 12
GM 3" Sleeve, Diagonal Brace

GM-DB-HW01-M1 0 6
GM Diagonal Brace Hardware (For 2" & 3" Pipe)

Accessories

29-4000-077 0 4
Wire Clips, Molded PVC Black, Polybag 20

XR-1000-CAP 0 3
Kit, End Cap XR1000 (10 sets per bag)

BHW-MI-01-A1 0 35

Microinverter/MLPE Bonding Hardware, T-Bolt

Last updated by Matthew Belliveau on 01/10/24 08:55 AM
Page 6 of 6



PRE-INSTALLATION

O Verify module compatibility. See Page 14 for info.

O Purchase 2” or 3" Pipe or Mechanical Tubing

Pipe: 2" or 3" (NPS) ASTM A53 Grade B SCH 40 Pipe,
galvanized to a min of ASTM A653 G90 or ASTM A123
G35.
Mechanical Tubing: 2.375” x 12 ga (O.D) or 3.500” x
8 ga (0.D.) Mechanical Tubing with one of the following
Galvinizations (ASTM A1057).

* Allied Gatorshield

* Allied Flo-Coat Coating

*  Wheatland ThunderCoat

TOOLS REQUIRED

Post Hole Digger or Powered Auger

Socket Drive (7/16”, 9/16”, 15/16” and 1/2” Sockets)
Torque Wrenches (0-240 in-Ibs and 10-40 ft-Ibs)
Transit, String Line, or Laser Level

3/16” Allen Head

ooooa

TORQUE VALUES

Top Cap Set Screws (3/16” Allen Head)
O 2" or 3" NPS Schedule 40 Grade B Pipe: 20 ft-Ibs
O 2.375" x 12 ga OD Mechanical Tubing: 11 ft-lbs
O 3.500” x 8 ga OD Mechanical Tubing: 16 ft-lbs

d Eor Ground Screw to Pipe Connection Hardware see Page
O Top Cap U-Bolt Nuts (9/16” Socket): 15 ft-Ibs

O Rail Connector Bracket Nuts (9/16” Socket): 21 ft-Ibs
O Rail Connector U-Bolt Nuts (9/16” Socket): 60 in-Ibs
O Rail Grounding Lug Nut (7/16” Socket): 80 in-lbs

O Rail Grounding Lug Terminal Screws (7/16”
Socket): 20 in-lbs

Module Grounding Lug Nut (3/8” Socket): 60 in-Ibs

O Module Grounding Lug Terminal Screws (1/2”
Socket): 20 in-lbs

Universal Fastening Objects (7/16” Socket): 80 in-lbs
Diagonal Brace Set Screws (1/2” Socket): 15 ft-lbs
Diagonal Brace Bolts (1/2” Socket): 40 ft-Ibs
Microinverter Kit Nuts (7/16” Socket): 80 in-lbs
Frameless Module Kit Nuts (7/16” Socket): 80 in-Ibs

If using previous version of: Integrated Grounding Mid Clamps,
Grounding Lug and End Clamps please refer to Alternate
Components Addendum (Version 1.90).

If installing on a low slope roof please refer to Ground Mount for
Flat Roof Applications Addendum (Version 3.30).

v.Ooooaano O

v

» Unless otherwise noted, all components have been evaluated for
multiple use. They can be uninstalled and reinstalled in the same

or new location.

IRONRIDGE COMPONENTS

XR100 & XR1000 Rail Rail Connector
Top Cap UFO (30-46mm)
@l
Stopper Sleeve CAMO

Rail Grounding Module Grounding

Lug

Diagonal Brace

Frameless Module
Kit

Lug

End Cap

Hex Head Set
Screw

Microinverter Kit

Wire Clip

Frameless End/
Mid Clamp









	Submission of materials
	Submission of application



